

SULTANATE OF OMAN

# INSPIRING EVENTS

فعاليات ملهمة

Kempinski

**HOTELIERS SINCE 1897** 

## YOUR PERFECT VENUE

While planning an event, you need to be sure that your venue is absolutely perfect. For meetings, weddings, celebrations and more, the venue facilities at Kempinski Hotel Muscat are unparalleled in the city.

Choose from a selection of contemporary meeting and event rooms, or our magnificent, 1,100 sq m ballroom, divisible into three smaller function spaces. Whatever size your event, take advantage of break-out spaces, pre-function rooms and more.

Alongside the above, guests can benefit from the best modern audio-visual technology, bespoke menus complemented by Omani hospitality and a remarkable service crafted by Kempinski's classic European flair.

#### Muscat Ballroom

A grand and auspicious location, the Muscat Ballroom can accommodate up to 1,500 guests in a reception style. It is a particularly magical venue with a setting for romantic and lavish weddings but is equally perfect for award ceremonies, corporate dinners, product launches and everything in between. The ballroom can be divided into three separate identical size rooms for maximum versatility.

#### Konference Rooms

Our six Konference rooms are located within close proximity of one another and feature wonderful natural daylight. The unique design and spaces of the different rooms create the perfect tone to complement your event. With a capacity to host up to 120 guests in a reception style, or up to 100 guests in theatre style, these venues can be the perfect choice for your meetings and events.

#### Boardroom

Book your upcoming meeting in our boardroom, ideal for small sized gatherings and meetings. With a space of 58 sq m, this venue can accommodate up to 18 guests. Located within our convention centre and equipped with high tech services, your meeting in our boardroom will be a guaranteed convenient experience.

#### Offices

For your smaller gatherings, our offices are a perfect choice. All four offices are located within our convention centre with easy access to other meeting venues and the hotel. In addition, they feature natural daylight and can accommodate up to 6 guests in boardroom style.



### MEETINGS & EVENTS

Kempinski Hotel Muscat has a range of contemporary meeting and event rooms for small and large groups. Equipped with audio-visual technology, exceptional refreshment options and Omani hospitality, there is no better destination for your sales conference, board meeting or training session.

Plus, all our meeting and event spaces have breakout spaces and pre-function areas, and we provide Kempinski-branded A4 notebooks, pens, water, stationery and themed beverage packages for our guests too.

#### Sales Conferences

If you are looking to hold a sales conference with us, our magnificent 1,100 sq m ballroom is the perfect venue. Seating up to 1,200 people theatre style, the Muscat Ballroom is the biggest space in the hotel and is beautifully decorated. Plus, it can be divided into three smaller function spaces if you don't need the whole space for your sales conference.

For something a little smaller, we have 6 conference rooms that are also great options for sales conferences. Holding between 30 and 100 people theatre style, we are sure to have a room that suits your requirements.

#### **Board Meetings**

If you are looking for a venue with a central location for your board meeting, then Kempinski Hotel Muscat has the perfect space for you. Our boardroom is the best space for a board meeting, holding up to 18 guests and equipped with high tech equipment and refreshments too.

For something a little bigger, we recommend our conference rooms. We have 6 rooms available, ranging in capacity from 16-48 people in a boardroom layout.

#### Training Sessions

Need a great space for a corporate training session? Choose Kempinski Hotel Muscat.

We'd recommend our offices for intimate training sessions. We have 4 offices on site, all conveniently located in the hotel, and they hold up to 6 people. For larger training sessions, our 6 conference rooms are ideal and hold up to 36 people U-style. All our offices and conference rooms have natural daylight, tech equipment and refreshments too.



# INCENTIVES



Located in the upscale residential community of Al Mouj, it offers a rich cultural experience and five-star standards. Our highly experienced Events and Groups Team will take you on a journey of exploration where even the smallest of details are taken care of. We have created a range of programmes that will suit your every requirement. Choose from world-class gourmet experiences, created by our team of culinary experts and set in the magical surroundings of our meeting halls and state-of-the-art Muscat Ballroom.

### PRIVATE EVENTS

Kempinski Hotel Muscat is the city's finest luxury destination and the perfect venue for your private event in Muscat. So, whether you are hosting a birthday party, graduation, family celebration or gala dinner, choose Kempinski Hotel Muscat. Choose from a selection of contemporary meeting and event rooms for your private party, and take advantage of our impeccable audio-visual technology, inbuilt lighting system, exceptional service and expertly crafted menus. Each of our ballroom, boardroom or conference rooms have breakout spaces and pre-function rooms and make the ideal venue no matter the size of your event.

#### Graduations

Looking for a private event space to celebrate a graduation? No matter the size, our conference rooms will be the perfect venue for you to celebrate a school or university graduation. All our conference rooms have plenty of natural daylight, are decorated beautifully and have access to breakout spaces too.

#### **Private Parties**

If you are celebrating a special anniversary, a birthday in the family, or holding a party because you want to – Kempinski Hotel Muscat is the ideal venue. No matter the size of your private party or family celebration, Kempinski Hotel Muscat has a space for you. Our conference rooms hold between 20 and 120 guests, varying on seating and table layout, or you can choose our grand Muscat Ballroom for larger celebrations.

#### Birthdays

Celebrating a birthday? Make your day extra special with a private birthday party at Kempinski Hotel Muscat. If you are enjoying a larger gathering, or want to celebrate in true style, the Muscat Ballroom is an excellent choice. The 1,200sq m room can be divided into three rooms, holding between 75 and 665 people, dependent on the style of layout you choose. For something smaller, choose one of our conference rooms. They can fit between 20 and 120 guests dependent on layout.

#### Gala Dinners

Searching for the perfect space for your gala dinner? Look no further than the Muscat Ballroom at Kempinski Hotel Muscat. Beautifully decorated and conveniently located within the hotel, our luxurious ballroom is the biggest and best space we have to offer. It can accommodate up to 2,000 guests in reception style or can be divided into 3 smaller rooms for maximum versatility, accommodating between 265 and 665 guests depending on the style and layout. For a gala dinner to remember, there's no better space than the Muscat Ballroom.



# CATERING SERVICE



If you need a catering service for your meeting or event, we can help at Kempinski Hotel Muscat. We offer delicious canapés, buffets, sharing or set menus, so no matter the occasion or size of your event, we have you covered. We will take care of all dietary requirements and food allergies too, so there is no need to worry if you have gluten free, vegan or vegetarian guests. Our dedicated chefs are on hand to advise you of the best dishes to ensure everybody is looked after.

## CONVENTIONS & CONGRESSES

Searching for a convention space in Muscat? Kempinski Hotel Muscat could be the ideal venue for your product launch, annual convention or exhibition fair. From our grand Muscat Ballroom to one of our smaller conference rooms, no matter the size of your convention or congress we have the perfect space for you. What's more, hire one of our rooms for your convention and you'll have access to our executive lounge and business centre.

#### Product Launches

Recently launched a new product and looking for the perfect venue to showcase it? Choose Kempinski Hotel Muscat. Our luxurious Muscat Ballroom holds up to 1,200 people theatre-style or can be divided into smaller sections for more intimate launches. Our conference rooms are also great for smaller events and product launches, holding up to 100 guests in a theatre layout.

#### Annual Conventions

For a space to hold your annual convention, we recommend our Muscat Ballroom. Holding up to 1,200 people theatre style, or 1,500 in reception style, it's the biggest and best space we have to offer and an excellent choice for an annual convention.

#### Exhibition Fairs

If you're searching for a beautiful, grand and spacious venue for an exhibition fair, our Muscat Ballroom has you covered. Over 1,100sq m, it is our largest venue space in the hotel and can hold up to 2,000 people. Beautifully decorated, there is simply no better space to hold your exhibition fair.



### HOTEL PLAN





MEETING ROOM NAME	LENGTH (IN METERS)	WIDTH (IN METERS)	TOTAL AREA (IN METERS)	HEIGHT (IN METERS)	THEATRE		U-SHAPE	RECEPTION		BANQUET	CABARET (ROUNDS OF 6)
											:
Muscat Ballroom	41.19	26.25	1081	5.75	1200	450	225	1500	200	700	432
Muscat Ballroom 1	26.25	13.73	360	5.75	400	150	75	500	100	265	138
Muscat Ballroom 2	26.25	13.73	360	5.75	400	150	75	500	100	265	138
Muscat Ballroom 3	26.25	13.73	360	5.75	400	150	75	500	100	265	138
Muscat Foyer	-	-	500	5.75	-	-	-	-	-	-	-
Konference 1	8	5.45	43.5	3	30	18	16	30	20	20	12
Konference 2	8	5.45	43.5	3	30	18	16	30	20	20	12
Konference 3	7.86	6.92	54	3	36	18	14	40	16	30	24
Konference 4	7.86	8.67	68	3	44	22	16	50	20	30	24
Konference 3+4	15.59	7.86	122.5	3	80	40	30	100	36	60	48
Konference 5	7.85	8.71	68	3	48	28	16	50	23	30	30
Konference 6	7.85	9.08	71	3	52	32	20	60	25	40	30
Konference 5+6	17.79	7.85	139.5	3	100	60	36	120	48	70	60
Boardroom	8	7.2	57.5	3	-	-	-	-	18	-	-
Breakout Room 1	8.55	4.21	35.5	3	-	-	-	-	-	-	-
Breakout Room 2	8.55	4.21	35.5	3	-	-	-	-	-	-	-
Office 1	4.14	3.53	14.5	3	-	-	-	-	6	-	-
Office 2	4.14	3.53	14.5	3	-	-	-	-	6	-	-
Office 3	4.14	3.47	14.5	3	-	-	-	-	6	-	-
Office 4	4.14	3.47	14.5	3	-	-	-	-	6	-	-

For inquiries, please contact us via telephone on +968 24 98 5000 or email events.muscat@kempinski.com.

P.O.Box 57, Al Mouj 138 Muscat, Sultanate of Oman kempinski.com/muscat

للمزيد من المعلومات، يرجى التواصل على: ت ٥٠٠ ٩٩٨ ٢٤٩٨ و events.muscat@kempinski.com

صندوق البريد ۵۷ .الموج ۱۳۸ مسقط . سلطنة عمان kempinski.com/muscat

**KEMPINSKI.COM** 



Kempinski

HOTELIERS SINCE 1897